G8'57T'8CL'9-

ST'949'%792°0€

ST'949'792°0€

00'206'v¥T’LE

00'000'2ST

00°206'C669€

sepnAy
seJd1Q A solpisqns ‘sauoldeusisy ‘sejpualajsued |

00°L0v'STT’0T 00°L0v‘See’0T 00°£0¥'5T2'0T 00°£09700°6T 00'£09'v00°6T 000 sauoepody A sauoidedidilied
000 000 000 000 000 000 |eyded
000 000 000 000 000 000 9juUslIo)
000 000 000 000 000 000 sojuaiweydanoldy
000 000 000 000 000 000 |euded
000 000 000 000 000 000 9uslIo)
000 000 000 000 000 000 S01Npo.d
000 000 000 000 000 000 soydalsaq
000 000 000 000 000 000 Sel0[3|Al 9P SBUOIINGLIIUOD
000 000 000 000 000 000 sojsandw|
ST'I8TL6Y'E ST'€80°06%°01 ST'€80°06%°0 00'60S'6v72'9S 00°£09952'61T 00°206'2669€ 0uJ31qo9 |ap sosaIBu|

- ; (sauo1onpay) ojuajwenueuld ;

_ BpualajIa opepnesay ope3uanaqg - opesyIpoNl A sauopeljdwy opewns3 ap 21UaN4 104 S0sa8u| Bp 0d|eUY Opels]
; . 0s3.18uj

ST'IST'L6Y'E

S9

1U3P3IX] sosaudu|

ST'€80°061°0v

ST'€80°06%'0V

00'605‘6t72°9S

00°'£09'952'6T

00°206'266'9€

|ejol

000
G8'57T'8CL'9-

000
S1'9£9'%92°0€

000
ST1'9/9'792°0€

000
00'206'vve'LE

000
00'000°25T

000
00'206'266'9€

SOJUSIWEldURUI{ BP SOPEALIDQ SOSJ3U|
sepnAy
SeJ10 A solpIsgns ‘sauoloeusisy ‘Seloualajsueld |

00'L0%'STC'0T 00°L0v'S2C'0T 00'£0v'STT'0T 00°£09'v00'6T 00°209'v00°6T 000 sauolpeyody A sauojedidilied
000 000 000 000 000 000 S0121AIDS A saualg ap seuaA Jod sosaudu|
000 000 000 000 000 000 |eyded
000 000 000 000 000 000 9juallIo)
000 000 000 000 000 000 SojudIWeyIdA0Idy
000 000 000 000 000 000 |exded
000 000 000 000 000 000 91uallo)
000 000 000 000 000 000 S03onpold
000 000 000 000 000 000 soyaalaq
000 000 000 000 000 000 seJo[a|A ap sauolangIIu0)

uoo.o 000 000 000 000 000 [e120S peplIN3as ap sauoldenody A sejon)

2000 000 000 000 000 000 sojsandw|

{sauoddnpay)
L EBlouaJayig opepnesay ope3uanag OpedIPOIAI A sauopeldwy opewnsy sosaiguj] ap oiqny
& osaidu|

8102 Iop aiquianjdasg ap ¢ |e oiaug ap "04d} [9a
so0sa.48u| ap od13jeuy opeis]

SFHUIATNIAI SY1 3A ISNIIDSITVI OLNLILSNI




ejuapisald

N

“1osjwa [ap pepljiqesuodsal A s0303.100 3jUaWa|qEUOZES UOS SBION SNS A soJajoueuly sopels3 so| anb.sollelejaap peplan J13ap ap eysatosd ofeg

o

ST'I8T'L6Y'E $33U3PaIXT S0saISu|

ST'€80°06%'01 ST'€80°06%'0V 00°605'6t72'9S 00°£09'9526T 00°206‘266'9€ |elol

000 000 000 000 000 000 SOJUSIWEldUBULY Bp SOPBAIISQ SOSIBU|
000 000 00'0 000 000 00'0 OjualwenueUl} 3p SOpeALISP sOsaJ3u|

wmn3><

seJ10 A solpisgns ‘sauoideudisy ‘sejoualajsued

000 00°0 000 000 000 000 SO12IAIBS A Saualg ap Seluap Jod sosaldu|

000 000 000 000 000 000 |e120S peplindas ap sauoldeplody A sejon)
000 00'0 000 00'0 00'0 00°0 sesasdwy A sowsjuediQ ap sosaJdu|

8102 I9p aiquianydas ap g |e o1vuz ap "0us| [oQ
sosa.i8uj ap od1jeuy opejsy

SIYACNIA SY1 3a ISNIIDSIVYI OLNLILSNI




